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15. Which, if any, of the following species are in the

greatest concentration in a 0.100 M solution of
H,SO, in water?

(A) H,SO, molecules

(]33 H,O" ions

(C) HSO, ions

(D) SO, ions

(E) All species are in equilibrium and therefore
have the same concentrations.

3. At 20.°C, the vapor pressure of toluene is 22 mm
Hg and that of benzene is 75 mm Hg. An ideal
solution, equimolar in toluene and benzene, is
prepared. At 20°C, what is the mole fraction of
benzene in the vapor in equilibrium with this
solution?

(A)0.23
(B) 0.29
(C) 0.50
(D)0.77
(E) 0.83

17, Which of the following aqueous solutions has
the highest boiling point?

(A)0.10 M potassium sulfate, K,SO,
(B) 0.10 M hydrochloric acid, HCI

(C) 0.10 M ammonium nitrate, NH,NO,
(D) 0.10 M magnesium sulfate, MgSO,
(E) 0.20 M sucrose, C H,,0,,
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8. When 70 milliliters of 3.0 M Na2C03 is added to
30 milliliters of 1.0 M NaHCO,, the resulting
concentration of Na* is

(A)2.0 M
(B)2.4 M
(C)4.0 M
(D)4.5 M
(E) 7.0 M

39.

40.

41.

Which of the following species CANNOT
function as an oxidizing agent?

(A)Cr,0.>
(B) MnO,-
(C)NO,-
(D)S
(E)T

A student wishes to prepare 2.00 liters of 0.100
M KIO, (molecular mass 214). The proper
procedure is to weigh out

(A)42.8 grams of KIO, and add 2.00 kilograms
of H,O

(B) 42.8 grams of KIO, and add H,O until the
final homogeneous solution has a volume of
2.00 liters

(C) 21.4 grams of KIO, and add H,O until the
final homogeneous solution has a volume of
2.00 liters

(D) 42.8 grams of KIO, and add 2.00 liters of
H,O

(E) 21.4 grams of KIO, and add 2.00 liters of
H,O

A 20.0-milliliter sample of 0.200 M K,CO,
solution is added to 30.0 milliliters of 0.400 M
Ba(NO,), solution. Barium carbonate precipi-
tates. The concentration of barium ion, Ba®', in
solution after reaction is

(A)0.150 M
(B) 0.160 M
(C) 0.200 M
(D)0.240 M
(E) 0.267 M





